
ELEIKO STORAGE RACK 

3085273, 3085274, 2001085, 2000949,
2000922, 2000925, 2001087, 2001044, 
2001146



CAUTION
The equipment must be installed and used in a place whose access and supervision 
are specifically controlled by the owner.

Be sure to install the equipment on a stable base and properly level the equipment. 
ELEIKO recommends that all equipment is secured to floor and installed by a licensed 
contractor or an ELEIKO-installer. 

SAFETY  INSTRUCTIONS
It is the responibility of the purchaser of ELEIKO products to instruct all users and 
supervising personnel on proper usage of the equipment.

1. All included warnings (labels) and instructions MUST be read before the use of any 
ELEIKO-equipment. Use each equipment as it is intended for. 

2. A user MUST get a medical examination and proper instructions before the use of 
any ELEIKO-equipment. 

3. DO NOT let anyone, under any cuircumstances, use equipment that appears to be 
damaged. Do not try to repair any equipment before consulting an ELEIKO technician. 

4. DO NOT replace the components of ELEIKO-equipment with other none ELEIKO-
equipment (magnetic safety pin, frames, bars), do not improvise. If there are any 
doubts consult an ELEIKO representative prior to any intervention. 

5. DO NOT overload the equipment and DO NOT try to exceed personal strength 
levels. 

6. Children under the age of 14 must be supervised by an adult. 

7. DO NOT remove any safety labels from the ELEIKO-equipment. ELEIKO is not 
responsible if a label is removed. Replace damaged labels immediately. 

PREVENTITIVE  MAINTENANCE  &  INSPECTIONS 
REGULARLY:
Clean the surfaces on frames from dust and dirt.
Check that all bolts between parts and floor are properly tightened, according to 
recommendations.  

WARRANTY
All products manufactured by ELEIKO are warranted to the original purchaser to be 
free from defects in workmanship and / or materials under normal use or service as 
follows: 
10 years on welds on structural frame.
2 years on dumbbell holders.
Normal wear and tear does not fall under the warranty.

ADDITIONAL INFORMATION
This equipment is for indoor use only. 

2

READ BEFORE INSTALLATION AND USE



 X 

 Y
 

 > 0,6 m  > 0,6 m 

 >
 0

,6
 m

 
 >

 0
,6

 m
 

This rack is for storage of dumbbells (outer diameter max 200 mm) and
kettlebells. 

3

max
300 kg

PRODUCT SPECIFICATIONS



Allen key size 4 (M
6)

Allen key size 6 (M
10)

Spanner size 17 m
m

Spanner size 10 m
m

GENERAL

The table below is general  torque to use, if 
nothing else is set. Below numbers are for 
screw/nut of quality 8.8.

4

THREAD TORQUE (Nm / ftlb) 
Quality 8.8

M6 9,8 / 7,2
M10 47 / 34,7



M10
2000718

M10x40
2000675-L40

2000719

2001044

1094 mm
(43.1")

2000949

2001087

1094 mm
(43.1")

2001085

2000922

874 mm
(34.4")

2000925

874 mm
(34.4")

M6
20006672000708

M6x25
2000682-L25

M6x16
2000682-L162001146

2x4x

5



874 mm

(34.4")
1094 mm

(43.1")

E

6x

20
00

71
8

6x

20
00

67
5-

L4
0

12x

20
00

71
9

874 mm

(34.4")

1094 mm

(43.1")

L

2x

4x

2x

4x

20
00

71
8

4x

++

20
00

67
5-

L4
0

8x

20
00

71
9

874 mm

(34.4")

1094 mm

(43.1")

1.

6

ASSEMBLY INSTRUCTIONS



Q

R

2x

4x

2x

+

+

7



 
 

 

  

2.

8



3x

20
00

71
8

3x

20
00

67
5-

L4
0

6x

20
00

71
9

+
2x

20
00

71
8

2x

20
00

67
5-

L4
0

4x

20
00

71
9

X

Y

3.

TIGHTEN ALL SCREWS! 9

+



X

Y

4x
20

00
66

7

8x

20
00

70
8

4x

20
00

68
2-

L1
6

M6x16

1///814

763
ll
'23-3!(

2x

4x
2x

20
00

68
2-

L2
5

M6x25

4.

TIGHTEN ALL SCREWS! 10

15



X

Y

1268 mm

1268 mm

1094 mm
(43.1")

1///814

763
ll
'23-3!(

874 mm
(34.4")

 1268 

 1086 

TIGHTEN ALL SCREWS! 11

1086 mm

1086 mm



X

Y

1///814

763
ll
'23-3!(

2x

2x

20
00

66
7 2x

20
00

68
2-

L1
6

M6x16 20
00

68
2-

L2
5

M6x25

4x

20
00

70
8

TIGHTEN ALL SCREWS! 12

5.



X

Y

4x

20
00

66
7

8x

20
00

70
8

4x

20
00

68
2-

L2
5

M6x252x
6.

TIGHTEN ALL SCREWS! 13



X

Y

1x
20

00
66

7

2x

20
00

70
8

1x

20
00

68
2-

L2
5

M6x257.

TIGHTEN ALL SCREWS! 14



SECURE TO FLOOR

15

8.



Eleiko Group AB | Klastorpsvägen 18 | SE-302 62 HALMSTAD | Sweden
E-mail: info@eleiko.com | Phone: +46 35 17 70 70

www.eleiko.com re
v.

 2
40

1


	Front Sheet
	Drawing View207

	Maintanance
	Specifications
	Drawing View77
	Drawing View345

	Required tools
	Drawing View267
	Drawing View268
	Drawing View269
	Drawing View270

	Contents
	Drawing View8
	Drawing View10
	Drawing View12
	Drawing View83
	Drawing View85
	Drawing View89
	Drawing View91
	Drawing View95
	Drawing View98
	Drawing View235
	Drawing View236
	Drawing View237
	Drawing View304
	Drawing View361
	Drawing View363

	Assy instr. 1
	Drawing View18
	Detail View C (1 : 4)
	Drawing View23
	Detail View E (1 : 3)
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View110
	Drawing View111
	Detail View L (1 : 3)
	Drawing View115
	Drawing View116
	Drawing View117
	Drawing View118
	Drawing View119
	Drawing View120
	Drawing View121
	Drawing View125

	Assy instr. 1b(2)
	Drawing View178
	Detail View Q (1 : 3)
	Drawing View185
	Detail View R (1 : 3)
	Drawing View188
	Drawing View189
	Drawing View190
	Drawing View198
	Drawing View199
	Drawing View208
	Detail View V (1 : 5)
	Drawing View210
	Detail View W (1 : 5)
	Drawing View274
	Drawing View276

	Assy instr. 2
	Drawing View29
	Drawing View72
	Drawing View75
	Drawing View123
	Drawing View124
	Drawing View126
	Drawing View127
	Drawing View128
	Drawing View129
	Drawing View130
	Drawing View133
	Drawing View135
	Drawing View136
	Detail View M (1 : 2)
	Drawing View141
	Detail View N (1 : 2)

	Assy instr. 3
	Drawing View78
	Detail View K (1 : 4)
	Drawing View145
	Drawing View146
	Drawing View147
	Drawing View148
	Drawing View149
	Drawing View150
	Drawing View151
	Drawing View152
	Drawing View153
	Drawing View154
	Drawing View212
	Drawing View213
	Detail View X (1 : 3)
	Detail View Y (1 : 3)
	Drawing View392
	Drawing View393

	Assy instr. 4
	Drawing View224
	Drawing View228
	Drawing View230
	Detail View X (1 : 3)
	Detail View Y (1 : 3)
	Drawing View239
	Drawing View240
	Drawing View241
	Drawing View277
	Drawing View308
	Drawing View312
	Drawing View314
	Drawing View316
	Drawing View369
	Detail View AF (2 : 5)
	Drawing View372
	Drawing View373
	Drawing View374

	Assy instr. 4(3)
	Drawing View321
	Drawing View322
	Drawing View324
	Detail View X (1 : 3)
	Detail View Y (1 : 3)
	Drawing View332
	Drawing View333
	Drawing View334
	Drawing View335
	Drawing View336
	Drawing View337
	Drawing View338
	Drawing View381

	Assy instr. 4(3)(2)
	Drawing View346
	Drawing View347
	Drawing View349
	Detail View X (1 : 3)
	Detail View Y (1 : 3)
	Drawing View351
	Drawing View353
	Drawing View355
	Drawing View382
	Detail View AH (2 : 5)
	Drawing View384
	Drawing View385
	Drawing View386
	Drawing View387

	Assy instr. 4(2)
	Drawing View278
	Drawing View279
	Drawing View281
	Detail View X (1 : 3)
	Detail View Y (1 : 3)
	Drawing View284
	Drawing View285
	Drawing View286
	Drawing View287
	Drawing View289
	Detail View Z (1 : 2)
	Detail View AA (1 : 5)
	Drawing View291
	Drawing View388

	Assy instr. 5
	Drawing View246
	Drawing View247
	Drawing View249
	Detail View X (1 : 3)
	Detail View Y (1 : 3)
	Drawing View252
	Drawing View253
	Drawing View254
	Drawing View262
	Detail View AD (1 : 2)

	Last page
	Drawing View81

	Last page(2)

